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HOMEWORK... @MMHO(\& N
p. 468: Rule of 72...

#3 (only estimate the doubling time)

#5a &@

Compound Interest (Future Value)

#10 &@

p. 478: Compound Interest (Present Value)
(4 #6, #T, 8 #9
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8. Estimzltt would take for $1000 to grgwato $l%at each
interest rate, compounded annually. | 999 X 2050 __)L %33*@)/0.)3 97?/60'/9
a) 6% B) 12% 70
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| 12. Lenny has $5000 to invest and is looking at different GICs, as shown in
y 2 the table to the left. These GICs cannot be redeemed until their maturity.
1 1.35 a) Why do you think the interest rates increase as the term increases?
7 1.65 b) Lenny cannot decide whether to invest $5000 for 10 years or to
3 1.90 invest $5000 for 5 years and then reinvest for another 5 years.
- i) Compare the future values of each option. What assumptions
- 2.15 are you ma_king?
g 2 65 ii) What are the advantages and disadvantages of each option?
6 2.70 m> 1.9/\0)6—/ A ) ‘DO\PK (30§
7 2.85 A 1 0ce {//
8 2.90 f\(\a/\a*/) nelh mallts vn
9 3.00 [0 / 9 5 4 ¢ 7%
10 3.25 ) v
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10. Solomon bought a $40 000 corporate bond (an investment in the form of a
loan to a company that earns interest). The bond eari(s 4.8%,tompounded
semi-annually. After 4 years, the interest rate changed u@ ompounded W2

annually. Determine the value of Solomon’s inves
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(. 478
4. Mac plang to retire in 20 years, when he is 55. He estimates that he
will need”$250 000 to live on, until he is eligible for his pension.
a) How much money should h at Sé%, compounded
annually, to meet his goal? :
b) How much interest will he earn in 20 years?
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8 . 5 Investments Involving
Regular Payments

Determine the future value of an investment that earns compound
interest involving regular payments.

EXAMPLE 1 Determining the future value of an investment
p. 485 involving regular deposits

Darva is saving for a trip to Australia in 5 years. She plans to work on
a student visa while she is there, so she needs only enough money for a
return flight and her expenses until she finds a job. She deposits $500
into her savings account at the end of each 6-month period from
what she earns as a server. The account earns 3.8%, compounded
semi-annually. How much money will be in the account at the end

of 5 years? How much of this money will be earned interest?

SOLUTION BY HAND...

[ drew a timeline to show the future value of each of the $500 deposits
that I made at the end of each 6-month period for 5 years. A g_oo( /4_ M

3.8% compounded semi-annually

Year O 1 2 3 4 l5 / 0( q
T ST I W 6®
Deposit (S | 5d0 500'| 500 | 500 \,:l:j;js ﬂ 0
Q@ 500 |500 [soo 500 }
500(1 019)!
500(1.019)2
500(1.019}  _..___ | could see that | needed to do 10 calculations
lﬁpsoo(] 019)* and then determine the sum.
» 500(1.019) M=16
» 500(1.019)6 I&:S. 3
» 500(1.019) PMT=Sa8-—
» 500(1.019)8 S\‘ (" EY=3443. 5364878
—s soonowp s
PMT |38 EEGIH
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HOMEWORK: Review questions...

p. 483 -#1,2,5,7,10
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